

دوم سال

«برنامهدا»

امیرعلی میرزائی

$$y = \sqrt{x f(x)} \rightarrow x f(x) \geq 0$$

$$\rightarrow Df = [-\Delta, 0] \cup [2, \Delta]$$

	$-\Delta$	0	2	Δ
$f(x)$	+	-	-	+
x	-	-	+	+
p	-	+	-	+

$$y = \sqrt{\frac{-x}{f(x)}} \rightarrow \frac{-x}{f(x)} \geq 0, f(x) \neq 0$$

	$-\Delta$	-2	0	2	Δ
$-x$	+	+	-	-	
$f(x)$	-	+	-	+	
p	-	+	+	-	

$$Df = (-3, 0) \cup (0, 2)$$

$$-2 < -1 < 1 < 2$$

$$f(x) - 2f(2) = x - 3x + 4 \xrightarrow{\text{ابتدا } x=1 \text{ می‌گیریم}} f(2) - 2f(2) = 2 \rightarrow f(2) = -2$$

$$f(-2) - \frac{2(-2)}{-4} = 4 + 1 + 4 \rightarrow f(-2) = 1$$

$$f(f(0)) + f(f(1)) \rightarrow f(f(0)) = f(1) = 1$$

-۲

$$f(f(1)) = f(2) = 2 \rightarrow f(f(0)) + f(f(1)) = 1 + 2 = 3$$

$$f(x) = ax^2 - bx + 2$$

-۵

$$f(x-1) + f(x) = 4x + 2$$

یا x را $x-1$ بگذاریم و x را $x+1$ بگذاریم

$$f(0) + f(1) = 4 + 2 \rightarrow f(1) = a - b + 2 \text{ و } f(0) = 2$$

$$\rightarrow 2 + a - b + 2 = 4 \rightarrow a - b = 0$$

$$f(\sqrt{3}-1) = \text{؟؟}$$

بجای x در $f(x)$ بگذاریم

-۶

$$f(x) = \frac{x^2 + 4x + 0}{x^2 + 4x + 4} = \frac{(x+2)^2 + 1}{(x+2)^2 + 4}$$

$$= \frac{(\sqrt{3})^2 + 1}{(\sqrt{3})^2 + 4} = \frac{4}{7} \rightarrow f(\sqrt{3}-1) = \frac{4}{7}$$

$$f\left(x - \frac{1}{x}\right) = \frac{x^4 + 1}{x^4} \xrightarrow{\text{داده سوال}} x - \frac{1}{x} = -3 \quad -V$$

$$\frac{x^4 + 1}{x^4} = \frac{x^4}{x^4} + \frac{1}{x^4} = x^0 + \frac{1}{x^4} = \left(x - \frac{1}{x}\right)^4 + 2$$

$$\rightarrow f(-3) = (-3)^4 + 2 = 11$$

$$f(x) = \{(2, 0), (1, -4), (0, 2), (7, 1)\} \quad -A$$

$$g(x) = \sqrt{9 - x^2} \rightarrow Df \Rightarrow 9 - x^2 \geq 0 \rightarrow 9 \geq x^2, 3 \geq x \geq -3$$

$$\Rightarrow \{(2, \sqrt{5}), (1, \sqrt{8}), (0, 3), \dots\}$$

$$\text{الف) } \frac{f}{g} = \left\{ \left(2, \frac{0}{\sqrt{5}}\right), \left(1, \frac{-4}{\sqrt{8}}\right), \left(0, \frac{2}{3}\right) \right\}$$

$$\text{ب) } \frac{g}{f} = \left\{ \left(0, \frac{3}{2}\right), \left(1, \frac{\sqrt{8}}{-4}\right) \right\} \quad \text{فهمی تانده بارت برهه هین (2, \frac{\sqrt{5}}{0}) \text{ نه نشد}$$

$$f(x) = \{(2, 1), (3, 4), (-5, 2), (1, -2)\} \quad -9$$

$$\text{الف) } 2f(x) = \{(2, 2), (3, 8), (-5, 4), (1, -4)\}$$

$$\text{ب) } f(x) + 1 = \{(2, 2), (3, 5), (-5, 3), (1, -1)\}$$

$$\text{ج) } 3f^2(x) + 1 = \{(2, 4), (3, 49), (-5, 13), (1, 13)\}$$

$$\text{د) } f(2x) = \{(4, 1), (6, 4), (-10, 2), (2, -2)\}$$

$$f(x) = \{(2, 3), (7, 2), (1, 4), (3, 1), (5, 2)\}$$

$$g(x) = \{(1, 0), (2, 1), (-1, 4), (-2, -3), (3, -1)\}$$

$$f - g = \{(1, 4), (2, 2), (3, 2)\}$$

$$\frac{f}{g} = \{(2, 4), (3, -1)\}$$

نوٹ: بائیں طرف ہیں (1, 1) نوٹ: نشی